Paper: B.E_B.Tech
Set Name: |ltem25
Exam Date: | 29 July 2022
Exam Shift: | 1
Langauge: |Kannada
Topic: Mathematics-Section A
Iltem No: 1
Question
D- 100201
Question
Type: MCQ
R={(a, b):b=pq p 0T q AL =3 ANT ©ILeE, ToB RTINS} DO
Question: | {1, 2, 3,..., 60} nedow e ﬁsa'u; DTEE, 2,00 Fowegmoncd, @n R 3900
Nso03ny ﬁo@ﬁéodw :
A: 600
B: 660
C: 540
D: 720
Topic: Mathematics-Section A
Iltem No: 2
Question ID: 100202

Question Type: | MCQ

Question: | z=2+3i ST 2° + (Z)° 8 SS0dD VB, BTN :
A 244

B: 224

C: 245

D: 265

Topic: Mathematics-Section A

Item No: 3

Question 100203

ID:




Question

Type: MCQ
Question: | AB=0 8NTT0Z A &0 B 0wy 3% 3 Zerdod Q0R 3RTIRE woIm SR FiRNTO.
| en

A: JeagogE AWeTTED o, AX=0 DT TOTITBT, BRODT
B: JeagoF AWETTED M, AX=0 3 STOWE TOTTTD, BROKT
C: Bowomd B@Spedd ®30830iN
D: adj(A) 20T TEBRe [T Fo3WNTS
Topic: Mathematics-Section A
Item No: 4
Question
D: 100204
Question
Type: MCQ

, ! + 1 + ..+ : = L , then the
Question: (20 —a)(40 —a) (40 —a)(60 — a) (180 —a)(200 —a) 256

maximum value of a is :
A 198
B: 202
C: 212
D: 218
Topic: Mathematics-Section A
Item No: 5
Question
D: 100205
Question
Type: MCQ
. ae’ +Be T +ysiny 2 . o
Question: It JIf]i-n>D s =3 where a, 3, v € R, then which of the following is NOT
correct ?

A a2 + |”:"2 + 72 =6




4

B: o +By+vya+1=0
C: a[32+[312+'ya2+3=0
Topic: Mathematics-Section A
Iltem No: 6
Question ID: 100206
Question Type: | MCQ
. % ; |
Question: SITIOT I ; dy =
5 3 4+ 2 sinx + cosx
A: tan—1(2)
B: tan"1(2) - =
4

1 _
c: “tan"1(2) - =

2 3
D: l

2
Topic: Mathematics-Section A
Item No: 7
Question
D: 100207
Question
Type: MCQ

y =1(x) DOLRT (1 % eﬂ)[d_y 4 y} =1 DO BJTOED RENEFTLOT TOTTONTY, (0, %J
Question: dx
DO WO FWOT T JRENVWSY. it m e f(x) ob SSodd ¥BE AT :
e x—yc0

A: E




B: 3_11-
4
C: E
2
D: 3_11-
2
Topic: Mathematics-Section A
Item No: 8
Question
D: 100208
Question
Type: MCQ
4
beR — {5} QoM. L 0w Teadodn br+10y—8=0 0B 2x—3y=0 0w Jedn:,
SeDAT WOTNT RVITV0ST Tt BeeNTE. L 02 Beddodw (1,1) RoWIT DROTHR
Question: 5 .
BT BRETC BH) 17(x2 +17) =16 20w IS, AT, % + i—z =1 Q0w DEPrREa
N LOTIOI :
2
A: e
J5
B: E
5
1
C: _—
J5
D: E
b
Topic: Mathematics-Section A
Iltem No: 9
Question ID: | 100209




Question

Type: MCQ
A(—1,4,3) 20 RoWLAOT P: 2r+my+nz=4 IDI0IFT 00WT TRTT ATFITH)
Question: (_2; i EJ SNG3. A BODUROT P 330 ARR0ITTIDNS 3, — 1, —4, DTemReoR,
2 2 '
TROOWT BeSod IILT TBRTP) ATF, BTN,
A: 1
B: J26
C: 2.2
D: J14
Topic: Mathematics-Section A
Item No: 10
Question
D: 100210
Question
Type: MCQ
— A A — A M N —>
a=3i+j W2 b=1i+2j+k Q00 JUR TOINVTI. ¢ Q00 FOIX)
Question: - (—> —>) - — — -
a x\bx c)l=b +rc PowTD, FATARO. b DI, ¢ AW ABROITWNYHFI, AT
BRI
A: -5
B: 5
C: 1
D: -1
Topic: Mathematics-Section A
Item No: 11
Question
ID: 100211
Question MCQ

Type:




Question:

A D0 WOWAT YITE RReITT BOM DTFL BIZIoeI o SNT) I A d0T

BEDY, 9 IPT TROLDT B 0ROV wwotntd BIZ, dpeTsm) cos_l[iJ ©NT.

J13
B 303 Aremds Smhas Bedy) 15 SRIRwens, cota &) :
A: E
5
B: 2
5
C: E
3
D: z
%]
Topic: Mathematics-Section A
Iltem No: 12
Question ID: 100212

Question Type: | MCQ

Question: (PAqQ) = (pAr) D02 ION RITWFFTRY) :

A: q=(pAr)

B: p=(pnAar)

C: pAr)=(pArq)

D: pArq) =1

Topic: Mathematics-Section A

Item No: 13

Question

D- 100213

Question

Type: MCQ
P(1, 1) <0 A(a, 3), B(b, 5) wo=3 C(a, b), ab > 0 0w eﬁe)orm@o::ﬁewmgd SNRT

Question: | TOBeOTWNTA. AP @oey Beadodw BC Beadod®, Q(ky, ky) 39 FebATT k +k, &
SpIaXCE aﬂiae)sﬁ% :




A: 2
B: E
7
C: E
7
D: 4
Topic: Mathematics-Section A
Iltem No: 14
Question
D: 100214
Question
Type: MCQ
Tr A A (A A)
- é@eﬁdﬁieﬁF@maﬁ a DR, b Q0w HTH PF, 08 FIOINPTD. § 20w la + b
Question: N N W
29 (5 + 25 +2(3 x ) 2o8Re 503 deeFToTS 164 cos2 SowTT TP ATE,
[TTONG.
A: 90 + 272
B: 45 + 182
c: 90 + 342
D: 54 + 90/2
Topic: Mathematics-Section A
Iltem No: 15
Question ID: 100215

Question Type: | MCQ

(5

Question: | Tf f(a) = | I?SJ dt, « >0, then f(e®) +f(e ™) is equal to :
+t
1
A: 0
B: 2
2




9
C: E———
log. (10)
9
D:
2 log. (10)
Topic: Mathematics-Section A
Iltem No: 16
Question ID: | 100216
Question
Type: MCQ
Question: {(x’ y):jx -1y = 5 IZ} QO VOODT DAEEDFF) VWY, BIOTONG
A: > Sjn—l[é) _1
2 5 2
B: 5_‘TI' — E
4 2
C: 3_‘11' + E
4 2
D: 5_11- — l
4 2
Topic: Mathematics-Section A
Item No: 17
Question
D: 100217
Question
Type: MCQ
P:y?=4x 202 TCROODT oY 89, &G L:y=mr+c,m>0 S0 TTSOoDBI, M
Question: 3 N 9 ToRAT. L o2y Jesdodd H:x2-y2=4 S0 s8ITR00D IRFIFP SNT.
1T 1 0 dowth ZoRwoH PR BoRmNT) ®E F ook 93ncRwcd HE mopoinnc
-3 FT9Z3 REOBT OMFN 200 BBZDFRT DAL f&d% TOTONT
A 26
B: 2+/14




c: 46
D: 4./14
Topic: Mathematics-Section A
Item No: 18
Question
D- 100218
Question
Type: MCQ
Question: f(x)=| x—1|cos| x—2| sin| x— 1| + (x — 3)[x%— 5x + 4| QO DWERITOL, f: R - R Q0w
T 3339, £ axzmIngs wombne Bossod -
A: 1
B: 2
C: 3
D: 4
Topic: Mathematics-Section A
Item No: 19
Question
D- 100219
Question
Type: MCQ
Question: S={1,23,..,2022} 5NTO. F.3.¥ (n,2022)=1 &THT0Z S IQTS n ©od o3RI,
' HOINT FOLITRCONB3OIN :
A: ﬁ
1011
B: ﬁ
1011
c. 127
337
D 112

337




Topic:

Mathematics-Section A

Item No:

20

Question ID:

100220

Question Type: | MCQ

xeR swent f(x)=30""2>+4 sn5e.
3INT BeLINII, JONIX
P:x=0202000 f3 F9ecd 3 SPOT 0o

Question:
Q: x =2 Q0D 3 TSTORIFI ROBTONT.
R: f' Q02 x> /2 Swort FHAT.
&N FYNT odTem BePFoIN ﬁéémﬁt:'}‘ 9
A 8e30 P Qg
B: ge30 Pabd) RAsh
c: 8630 QP RAH
D: 2R P, Q 353 R Rgh
Lae =
Topic: Mathematics-Section B
Item No: 21
Question
D: 100221
_?;pees:tion Numeric Answer
Question. | 5=10€ (0.2m) : 7 cos?0 —3 sin%0 —2 cos?20 =2} SNTD. &R x2—2 (tan?0 +cot?0)x +6
HESION: | 5in20 =0, 8 € S, o2 DY TWeFTNY WRONY B3
Topic: Mathematics-Section B
Item No: 22
Question
D: 100222
Question

Type:

Numeric Answer




X1, Xy - oy Xpg DO 20 TIV0INY TToXO ) THTLR NIOD[OI WFFFTN 15 &0

Question: | 9 BNSY. aeR ST (¥ +a)? (X, + )2 ..., (1yyTa)? B FTIOKID 178 STS a & MOF
BPOT WINFPY)
Topic: Mathematics-Section B
Iltem No: 23
Question
D- 100223
Ques.tion Numeric Answer
Type:
a,beR nyomon, a, —4a, —7 0L OT9 QMEadabi BRODTYSE Tesdo» 3, —1,2b ]
b, a, —2 SOV @m@a‘mwﬁ’@’a‘% FTROODT HTBR Teldnen ©ow=dNT.
Question: +1 -2
;C o g A Z 202 Beadodn x—y+z=0 D0 FNIVVLOON 3eHAT LOTDF)
a- +b a- —b 1 '
(o, B, y) STT a+p+y n oA,
Topic: Mathematics-Section B
Iltem No: 24
Qgestion 100224
ID:
Question .
Type: Numeric Answer
, , Br = 4
Question: a;eR,V; W a;,a, a;, ...5) ARIPOSBT SeRa3eNTO. ; e &3, 4a, i
.
Topic: Mathematics-Section B
Item No: 25
Question
D- 100225
Question .
Type: Numeric Answer
1 n
NROWW FITNTFF OFmoNTO, [i‘/ﬁ + %} PO VAT BATBIIOT DTHe IW BB
Question:

BRNONOT NTNE BTT DTSR 46 : 19NTS. JIRTAA0T 636 JITH) —eﬁzﬁc‘)’ aeR

al aﬁa%@

7




Topic:

Mathematics-Section B

Item No: 26
Question
D- 100226
1Q_ue§tion Numeric Answer
ype:
| 00 1 Rrsoo3nEy, BRI 3x 3 Jerdod SRIFoNYT S WoINY BRIy Ve,
Question: | os30dmrbas K030
Topic: Mathematics-Section B
Item No: 27
Question
D- 100227
Que§tion Numeric Answer
Type:
p D p+2710 BQRE, FoBSRTNTA.
pr (p+D! (p+ 2)
A= + 1) + 2)! + 3
Question: | ¥ (P b * (e ) SNTO.
pP+2)! (p+3)! (p+ 4)
SR oI PAH SHFEHTN p DB, (p+2) T PoSNYTN BROOT pr I (p+2)P
QTROOTOR A5 LRMTMVD sV B MY ﬁa% ToSNY aira:?’p@
Topic: Mathematics-Section B
ltem No: 28
Question
D- 100228
Ques.tion Numeric Answer
Type:
.| ot Hed 1 + ! + 1 +... + ! = k, (Sino]
Question: 2%3x4 3x4dxh 4Ax5xe6 100 x 101 x 102 101
Mk =
Topic: Mathematics-Section B
Iltem No: 29
Question
D- 100229
Question

Type:

Numeric Answer




S={4, 6,9} 33 T={9, 10,11, .., 1000} SNSO. A={a; +a,+...+a,: ke N, ay, ay, ay, ...

Question: |, eS}enGY T-A Redds oy AEosNe Bedw
Topic: Mathematics-Section B
Item No: 30
Question
D: 100230
_?;pees:tion Numeric Answer
¢y : 5x2+5y2+10gx +10fy +38=0 Q02 [IR) y=x+1 20w Tedodh Foed
Question: | ¢;:x2+y2—2x—6y+a=0 200 R[IT TIFR (Food) VOTONT. 1 LT ¢, FIT
xTR00 ater 3 IPOIH)
Topic: Physics-Section A
Item No: 31
Question
D: 100231
Question
Type: MCQ
TIWEN A1 L0 TF TIOH SOWRLTT SRIFROF) e ) ATII, ©TO0WRT,
ﬁ 3
r TLOD %zzé WL p TR AOT33RE3 8033 T =K pr/s% &0330e03zoN
Question:
300N, 1Y K 0w 850350:008%3maNs.
700 R ¢ BOIRR DFERFEOD TroO SHSFWOIOT RILS, HPF, SOWDRYE BROOT,
eI TeFNYD, TOMeId ARTHIT YITWR, 81 FINIJYNYY SOA.
A: A 33 R 20ER 30 @0 R i A ROOINT LWTHBOIPNT.
B: A mé’% R Q0@we ZO a‘ne‘x_}p R A 3003%d &ddﬁcﬁog.
c: A 03% 300N BT R ZOCRY.
D: A 030 Bowy w@8 R X0od5Na.
Topic: Physics-Section A
Item No: 32
Question 100232

ID:




Question
Type: MCQ
2,0TD ?D@Fag ﬁerﬁtﬁe; 2.0 23::;?53&11 DeSHTon = h @:;s’pcﬁafabi 3mm§zﬁ. Clale] q::r?‘od h
Question: 3
[ORY eStozen BB FYNLODVTON WTT TONY @mmw@ FOWIHLROWD.
A V2 -1
JZ 41
5 V3 —~2
B
c V3 —1
341
D: l
3
Topic: Physics-Section A
Iltem No: 33
Question ID: 100233

Question Type: | MCQ

Question: 200 Bed t=+x + 4, 53 (%lzf
A: 4

B: Eiraaﬁé

C: 8

D: 16

Topic: Physics-Section A

Item No: 34

Question | 100234

_?;pees:tion MCQ




BIRY SpcOITVTOZ 20T [8eod TIoDTT STHJD), BRODIIY 20T JODTT W
rira-erﬁodva‘o@l BROOT. v BITY Rweedod &)cﬁaz:’gp m D990 20T PF WBIWIHIRTT 33
3YNT 03RW HoWOTR) RREECWOWIT s ©ow TBZOH (N) ) TS &I (v) B IF
Question: | Sea30D), TIAQRIT ?
N
A:
v
N
B:
v
N
C:
v
N
D:
v
Topic: Physics-Section A
Item No: 35




Question

D: 100235
Question
Type: MCQ
BRI E BRoOTHT Lot 2,§c>t:e-1a'>aol &émé 60° eI w_éee?q:ﬁmﬁd. QW w_ﬁewéoda@pbmﬁ
Question: = ™
no% HZ00 VOWOTYS BOTTIIN
A: m&a
B: E
i
C: E
4
D: E
Topic: Physics-Section A
Item No: 36
Question
D: 100236
Question
Type: MCQ
a8 M M M M FAY
Bowen 1kg 02 3kgTodod T ToODNW i +2j + k DD —37 —2j + k ©WIeN
Question: | 228 x0BReS, BeoDH. B TBoDh Tb 0BT P AOIT VoTEOD T TOIT
VOSTeT DedodYode T
AN A
A i +27 +k
AN A
B: -3i —2j+k
A A
c -2i + 2k
AN A
D: —2i — j +2k
Topic: Physics-Section A
Item No: 37
Question 100237

ID:




Question

Type: MCQ
BTN A: QeOROT WD, RIARTRIRN O T NeT sENYD, 52 BRTBRMOZOY,
Question: | 359 R : PFNT THBY, V0T IBOT WOTIFERT BHT FRTTNIZHTOOT.
eI ée@ér‘i%ﬁa’oq T ROPY0A AT Goﬂ%ﬁ@;e{gj AR LOITLR Efof’;%‘odaaio@1 3023
A: A a:‘):e:’gp R Q0&EL RO m@_ R A A BO0E BTHBOIRAT.
B: A B R 20BH IO STT R R A TOOIRT QTTHODY.
c A 03» R003NE 833 R B0,
D: A o3 ﬁac&ae{% =338 R BO035NT.
Topic: Physics-Section A
Iltem No: 38
Question
D: 100238
Question
Type: MCQ
20T TOSOH YUTFWR, TTEY, TR T FoWORS e3B3a ST, SOTFNRPATTIN 080D
Question: - =
O] 308 ohores swmossy -
A: Soriode w@o&wgﬁ
B: QW0 =R B30 8 ﬁ@mﬁd.
C: 2 1
' QTT TR 2330 1 U@mgd.
D: BT WP KB3od 4 ﬁ@mgd.
Topic: Physics-Section A
Iltem No: 39
Question
D: 100239
Question MCQ

Type:




20D OJIT Womcdowow L NHT oY draee)ﬁasmi FeB) TTUINGT. .0 BRET a OB

Question: | FRFFTLE VY0P B3 FoTT 9N BOWTA. TV T3 LRVIT YOWRVTT BRSF PO
A: 2Tr\/L/(g cosa)
B: 2m,/L/ (g sina)
C: 2L/ g
D: 2Tr\[L/(g tana)
Topic: Physics-Section A
Item No: 40
Question
D: 100240
Question
Type: MCQ
Fa R Py [E - l)
p(r) = 4 R/ o0
r>R.n E’Jaa’é

BZoPTdE BBe3 TOTLOR), 8.0 RREPODTON DBOECHY Hed DT, TOMERT.
Question: | ¢) r(r < R) $3IBYHROZ $e0BROOTS BT $TS 2owd P SYT DT ES
A [ [E _ L]

dey \ 4 R
. pp T [3 L J

3gg \ 4 R
c P T [1 _ LJ

4 €p R




I T
D: _P[] [1 — —J
5Eﬂ R
Topic: Physics-Section A
Item No: 41
Question
D 100241
Question
Type: MCQ
Beed I: TS BT i D) Ded ) Ded AWTF DB }THNGS.
Question: | Bewd I1: JWE 3e8 HoTIT T WOWRAOT e i ©OWTNHET,
DD ée@%r‘feﬁa‘ql T ROPY0A 38 N tfoi%ﬁ%‘fc:g ROOITRT YLZTHIH efof'}%od)a‘nol =04,
A: e | &’D@_&p 2ewd Il QTBRR %O
B: Bewd 1 ) Bewd I H0RL 3D
C: Bewg I 10 <50 Jewd 11 ﬁac&og
D: Bewd 1 selovni) =0 Rewd I1 %O
Topic: Physics-Section A
Item No: 42
Question
D- 100242
Question
Type: MCQ
QTR TS0 SOITVIWTIR BT @’oéﬁ@ﬁ)ﬂl R:‘CSE‘@OSDGQ ZeDRT. FFowoN oy ast 0,
Question:
U] Res @1 3o8ne BIZTNSIRGTY HecREod TORIRTO WHILD ¢
A: —Ul L
G’l + 0'2
2
B: —Ul i
0'1 + [}'2
+
C: —Ul =2

2[}'1 U’2




[}'1+G'2

D:
0102
Topic: Physics-Section A
Item No: 43
Question
D: 100243
Question
Type: McQ
2 H Feosdootds Sboded E=440sin100mt & 2,080 $oieFod emf ©&), @ZCRTERNS.
Question: ™
33 TVOVWOE 2.0 ac. BRWTR, YIIRATY VWO JRTIF)
A: 44 A
B: 1.55 A
C: 224
D: 311 A
Topic: Physics-Section A
Item No: 44
Question
D: 100244
Question
Type: MCQ
6V méasaﬁ 100 Q@ = Sy &b:e.’_op 1H & Secs3cndas R‘Dcﬁa@o:babcl XedATT :
(@) TP @’Eo:l Clni ?&d m@é 23@3(}3;)?@J~ E0TR magl AWONOINT T
Question: | (b) ORVT AFEY, €& R S0NYE FOST 15 ms FLRTTITY WTVLCNYS 50ZeITY
BeDTTBOIMID 5:}90&3&01 FOWILROND.
(@Jafsé‘tﬁ In2=0.693, e ~3/2=0.25)
A t=10ms; U = 2 m]
B: t=10ms; U = 1m]
C: t=7ms; U =1m]
D: t=7ms; U =2m]




Topic:

Physics-Section A

Iltem No: 45
Question ID: | 100245
Questi
T;Jpees: on MCQ
BLRODA.
aﬁéﬁ -1 ﬁéﬁ -1II
(@) UV 3Tconsd () ST eod deen TOT e
S
Question: (b) X-3Teansv (i) eo E*i)ﬁ%;ﬁd?@
(c) HEp STonnw (i) Zom®m, GewoT
(d) tﬁﬁg}éf@’ STONN (iv) SDoRTY C’Jﬁn’%‘*@g riraezécﬁéoﬁoab& da%ﬁ@:)
B FYNS EOﬁ%ﬁ@Q pstolovenie wrﬁd&&ﬁ 6503%033534 S04
A (@)-(iii), (b)-(i1), (c)-(), (d)-(v)
B: (a)-(ii), (b)-(1), (c)-(iii), (d)-(iv)
C: (a)-(ii), (b)-(iv), (c)-(iii), (d)-(1)
D: (a)-(iii), (b)-(1), (©)-(ii), (d)-(iv)
Topic: Physics-Section A
Iltem No: 46
Questi
Do 1100246
Questi
T;Jpees on MCQ
. BT08 K¥8T STOMOBT A SN BRODTT, @d%&'\m B¥ORFEOIN E 8NHIPoInTT, QTR,
Question: 2E 3SR SeRen gme8 @e98s 300mosT aageled ?
A: L
EN — he
B. hci
EN + he




h\

C: Pl
EN + hc

D: &
EN — he

Topic: Physics-Section A

Item No: 47

Question

D: 100247

Question

Type: MCQ
(i) ATES ODP) DRRO=N ﬁiab&gdﬁoci RRTO a‘néaﬁﬁﬁ. ab@i_)p
(i) ©DVY TRET ﬁ&% WLROT NP TRAT RRTO WP

Question: e w3
BORIT VOBPRONT HTTT FOTTRNPLOB YORDRIEIT TR NY FFoH
TS :

A: 3:4

B: 443

C: 1:4

D: .1

Topic: Physics-Section A

Item No: 48

Question

D 100248

Question

Type: MCQ
WO AM 3Tongy) BeoHTIN @rd ﬂ&% 000 9V T gtha 8V #3000 &3 ss

Question: & )
mgaaéoﬁ TOTIERODT.

A: 0.8

B: (.5

C: 0.2

D: 0.1




Topic:

Physics-Section A

Item No: 49
Question
D: 100249
Question
Type: MCQ
2,00 BORI RRT BIFE B, =08, ﬁéee:ﬁs@a lem 74 20 QEANNTI, BRODT DeXewiey
Question: | ZeFIY 20, 50 VPN, BROVT. woTH Fesd [IOORT Aeefs 25 QNN [OD,
REST 24 RNNOR FDIWIT 83 ART TIFTT TAFK Reog’sy
A: 0.001 cm
B: 0.002 mm
C: 0.002 cm
D: 0.005 cm
Topic: Physics-Section A
Item No: 50
Question
D: 100250
Question
Type: MCQ
BRI, WHR 2O S0S0H TVIBW), TOBELROINT TOIRENTBY 81 IYTOT LEFRNRYRY,
L
NE0R NS,
P Q
=3
Question:
(A) eom Bomeeer WER B, BT Feors 0.5 mm BOWIT.
(B) R3cod FeorIQudm ewtd Qegnne Foss, =50.
(C) HF A IRTS 25 mm.
(D) R&o Feers 458 RS s fdod Foedd.
(E) oux8Ce 0.03 mm 93080 BReR BrodT.
JOBT B0S0D mﬁ;ﬁ@ -
A: 2.92 mm




B: 2.54 mm

C: 2.98 mm

D: 3.45 mm

Topic: Physics-Section B

Item No: 51

Question

D- 100251

Ques.tion Numeric Answer

Type:
0 3ReEnY WPoRs Hen ‘U IY woW IWIW, MDY TIerT. BT TFewd
ﬁ@ﬁod&cg g\%&ﬂ mé&od:o R ﬁa%mrbé‘d. SZROTH wmwmﬂl MYoLY TPTORT en

Question: & - - - A

"N Sortug 2BoRNROS ST TR0 TO0RT TLD SHFEAE0S TeeRTRNEoRTS

RTBS m@amd w_ﬁee?ﬁut:ﬁ @éewﬁ geenn 238oin @n.

Topic: Physics-Section B

Item No: 52

Question

D- 100252

_?;pees:tion Numeric Answer
ANDIASIOWY) a’ne@w 230¢S h DITTY 2wOTH VO Ted WL g, ﬁerira@:%ﬁ; AUOIAN O W)
e 00T ah B¥BY (h <<R,) ONFIRWR M, Serinedwlr§ F0mngrointt a o

Question: 3 N -
3303
(R,=6400 km Q0T 2FA)

Topic: Physics-Section B

Item No: 53

Question

D 100253

Question

Type:

Numeric Answer




2,000 DTTTIED LAV [1 = g] S 033 Pp 30 FOTE d; AT ST ERY FCIRFETRODY

FYS Po(>P)) DB dy 1§ WTCRET 9TT WFEIRD DOIOIRN SAVT TOORT YVFSOD
Question: = = ? 2

U@méd.
dp
(B3B8 —2 =32)
7%} dl
Topic: Physics-Section B
Item No: 54
Question
D- 100254
?ues.tion Numeric Answer
ype:
2.0 FRT DFTTRIWED YAV, AT IRG'E QRTRWD VIV 4eT W BRICINT.
012

Question: | 37 MZRY NIHT BHTITT DJER Ty TR J/molK S38 a & 38w

(Assume that the given diatomic gas has no vibrational mode).
Topic: Physics-Section B
Item No: 55
Question ID: 100255
Question Type: | Numeric Answer

BREINT OBOTY BOOINT o) A.
910 9} 90
Question:
IA
| |
I 1
6V

Topic: Physics-Section B
Item No: 56
Question
D- 100256




Question

Numeric Answer

Type:
5 cm gmétjeg 5%&5@2 #D%Ebﬁ &Sg)i%peoda ATOFOP %eogcﬁeg wri%odmmw ﬁoéﬁeg@
Question: | 37.68 X104 T #338 RDPODH &BN3T03BT BOOINH TERTR) A.
(ﬁo&_ﬁr{@ ﬁosﬁé 100 mégn 7=3.14 Q0T &raé,éjd)
Topic: Physics-Section B
Item No: 57
Question
D- 100257
_I(?;pees:tion Numeric Answer
20T TOWoD e 4] DT 9 SeIFoD HTW BT TDRIAWD 3, 8¢TONRANTS.
Question: | TTToD e A WOWATY & AWRTNY TWF, VOIT IR, B Lo B 39 7 T
A mal B z‘:)ocbri@;cg O3 éea_‘%éﬁ@ aﬁéméﬁ‘cé) L.
Topic: Physics-Section B
Item No: 58
Question
D- 100258
1Q_ue§tion Numeric Answer
ype:
14 A TTIR, woRWT 314 cm BT 20T 0800, [F[rEoF RNATRN
Question: | MTVLONY YLOERMT ToOI DT A-m?2,
[Given w=3.14]
Topic: Physics-Section B
Item No: 59
Question
D- 100259
Question

Type:

Numeric Answer




M, & M, 208 QTR TTHIFS [RGHNG S@ X-Y FII0TRY, 00imn SRDERCRT.
Z20 TQ M, V2 [eIns Bewmot Beodd I, Z<0M,, 3 [N Bew0s

Question: | 22 ponticiREd FmMEL BoTTTY M, SOT 2o BeE §0500 B0 P =437 — 343 — 5k
ONF, GINIRRLIRNTOIRTTE M, IO e deed R, M, IYI Jyedss dnesne
wéméﬁ@ @n,
Topic: Physics-Section B
Item No: 60
Question
D- 100260
_?;pees:tion Numeric Answer
2O pn HOFYW ‘VRLYODS” wpOoRT” 0.6 V 8ND. T3 6x107° m SROIWE
Question:
RBYTT SONTY IWF Feg SePod x10° N/C.
Topic: Chemistry-Section A
Item No: 61
Question
D- 100261
Question
Type: MCQ
- - - = o o
Question: AT @@@W@S%‘é} SN I DFOT UTF LN, FHWWN VROV 39N Xl
EERNSO :
A BCl, 352 SF,
B: NO @ H,S0,
.-
c: SF¢ w3 H,50,
D: BCl, 3@ NO
Topic: Chemistry-Section A
Item No: 62
Question
D- 100262
Question MCQ

Type:




NZ(g) +3H2(g) — 2NH3(g)

20 5
Question: & &
eI godoha, ToMeda, $oDODY HeNIT VRFTTE DI YOLRNE NH, SBeone
ﬁozﬁéod:o E&S}&Taﬁ :
A: H,, 1.42 Seeerfnsd
B: H,, 0.71 Sweerfnsd
c N, 1.42 Bree e
D: N,, 0.71 SRR
Topic: Chemistry-Section A
Item No: 63
Question
D: 100263
Question
Type: MCQ
250 mL 21’)6'60'55(‘2 100 mL Sﬁg\j 5% (w/v) NaCl 2e03 @weawm;{ 30330023. d.ra-%c&oozﬁ
Question:
YWT'IW, NaCl momeed WL BTN IOIFURNG. FoSTTNTOT T
A: T Aok (BOF k) TS
B: TRWT e (BOTEH) Tof
C: e ©Q L0 mmgﬁ 303300903
. D o
D: @éfwmm@m
Topic: Chemistry-Section A
Item No: 64
Question
D: 100264
Question
Type: MCQ
Na, Mg =020 Si n¢¥ TP @030des0e0 H0medodn Fehwon 496, 737 @030 786 k] mol ~1
Question: = = =

QTR AlR TF ©0IAEBT SOOI (k] mol 1 3Y):




A: 487
B: 768
C: 577
D: 856
Topic: Chemistry-Section A
ltem No: 65

Question ID: 100265

Question Type: | MCQ

Question: ‘Mmoo’ oW ﬁdﬁﬁ)ﬁl @iﬁfamﬁ}d@;ﬂ LTSRN TIREOTT

A: @mweﬁéﬁ aﬁatg;aﬁ a:"ﬁgpﬁ%‘f ﬁma?ﬁii
B: ©TeFON SRBNENOT BTTCTT SRTT TLIATY,
c: DG CRTTY AmRudmen Dedoins DRI
D: BOORYT Fo03e0D @Ei}%ﬁ@ﬁ
Topic: Chemistry-Section A
Item No: 66
Question | 100266
Questi
T;pe; ion | vica
_ TR (R07F°) 80T xOeod FTWRoDN R[EFATON WERRBOITNE ééé@eaﬁaﬁ BHAD R
Question: - o’
QETBORTD :
A Zn(OH),
B: Zn0O
c: [Zn(OH) >~
D: [ZnO,]>~
Topic: Chemistry-Section A

Iltem No: 67




Question
D- 100267
Question
Type: MCQ
Question: DeHONTJF Fetr WY FReROPTJY FHewr ), TE.cFToN FATON, TN

LOEPBORR) :
A LiNO, =33 NaNO

2 ) 2
B: Li,O =03 Na,O
2 s 2
C: Li,O =03 NaNO
2 ) 2
D: LiNO, =33y Na,O
2 ) 2

Topic: Chemistry-Section A
Iltem No: 68
Question
D- 100268
Question
Type: MCQ

SCl,, O,, CIF; 38 SF, n¢ 30D0H TTBIENAIYTT  DFooN Heedny :3035’50330
Question: = 5

BN :
A 1 g a‘:oégp 2
B: 21,2 a’;oé?p 0
C: T, 2,2 a‘o:égp 0
D: 21,0 d:oégp 2
Topic: Chemistry-Section A
Iltem No: 69
Question ID: | 100269
Question
Type: MCQ
Question: PN 03T .00 FoTTe BRe® WolRPNY HrReRoID WeerJ&3wNd 9
A: SC3+ Zn2+




B: Ti4+, Cu2+

C: V2+, Ti3+

D: Zﬂ2+, Mn2+

Topic: Chemistry-Section A

Item No: 70

Question

D 100270

Question

Type: MCQ
a‘&a% UFD YYTOLOD a‘mq%ﬁacﬁ@ﬁ, KMnO, 2.0 38309 YU T TaooN WD DUY

Question: zﬂéo&ra-ew.e&aabi maaSmm:éeﬁmﬁ :‘&e;;eésfﬁ w:@;@?&r:ﬁugm. 8 3odond méomawa mzféﬁm
A EONYT 2T WHTRTBEROID :

A: )

B: 1

C: 0

D: 3

Topic: Chemistry-Section A

Item No: 71

Question ID: 100271

Question Type: | MCQ

Question: %@ﬁﬁ@ﬁ@@ 03a Brelnwh 3ITTTT mgmﬁ‘w’ 9
A: BOOT (VROT) 2B tﬁd@%tbaﬁ

B: RRBODHT 3ReTET I, WLOT

C: RRBONTT WAF LT B a%q;n%éasf

D: RpeRodmyF dgedes 08 BREBODIF warSees
Topic: Chemistry-Section A

Iltem No: 72

Question ID: 100272




Question Type: | MCQ
Question: FENTRNTY OIPPYD WZ08 TP OTT LRITAE TITYINWONT ?
H;C
#
A N: CH
P e ania
HC CH,
CH,
H;C
'
B N:
/N
CH, H
“CH;
T
N
C: .
N
D:
Topic: Chemistry-Section A
Item No: 73
Questi
Do 100273

Question
Type: MCQ

FNTPYNYY oioR ROCININY EReRoIN Ldpedstnd W, YOI NTI, AT ?

Question:

(Consider the double bonds in the structures are rigid and not delocalized.)




CH,

CH;
@\ @\
CH, CH;

A:
CHj CH,
CH; CH,
CH, CH,
y CH; CH,
>
CH, CHj,
D:
<«
Topic: Chemistry-Section A
Item No: 74
Questi
Do | 100274
Question MCQ

Type:




AeCN NaCN
i <CHC;5H H->0O /\Cl CHOaH HO> .
Question: (TRND IT) 25 2 205 2 (ESAMEVRUNCY)
e goisodm“o% Toned, ﬁoo:mi ‘A mé’g ﬁooiwi ‘B i ﬁmmﬁ .

. @ O ® ©
A ST N=¢C N N=¢C
B: P C=N, AN C=N

. @ ©
C: N N=C 2N C=N

. ®@ ©
D: TS C=N, AN N=C
Topic: Chemistry-Section A
Item No: 75
Question ID: 100275
Question Type: | MCQ

OH
BI'2 NHzOH P205
» » B IS
Question: -
CHO
e 3030 HOrdoDaD, TONEBAN, GIT, ‘T’ 0 :
Br Br
A: \Q/
CN




OH
Br Br
B:
CHO
Br Br
C:
CHO
OH
Br Br
D:
CN
Topic: Chemistry-Section A
ltem No: 76
Question ID: | 100276
Question
T;pe:I MCQ
CH;,
Cl
p Cl NH3 BI'Z
Question: A" (GgHeC10) CgHgCINO NaOH

30e93 3030HY HOOINT ‘A" O :




o3

A: Cl
Cl CHj
O
Cl
B: 1
H,C
O
¢l
C:
¢l
CHj;
O
H
D:
Cl
CH,CI
Topic: Chemistry-Section A
Iltem No: 77
Question ID: 100277

Question Type:

MCQ




+
N=NCI™
.., NaOH
Question: + A w%ﬁ&
(3SB$-BoT we)
YNTRNLY oI SPTTT ‘A’ 0D, VSRV ?
OH
A:
OH
B:
NH,
C:
NH»,
D:
Topic: Chemistry-Section A
Iltem No: 78
Question ID: | 100278
Q :
T;Jpees:tlon MCQ




$9N3 03 BeROD, Toreds :

NH,
(i) AlH (i-Bu), CH;CHO B
Question: > ‘A’ > _
(i) H,O HwFe NaOH, A TR0 033,
CN
3T, ‘B’ 030
A OHCO— N=CH-CHj3
B: HZN—Q CH=CH-CHO
c: HZNOmZ—N=CH—CH3
T
D: HZN@ C—N=CH CHO
Topic: Chemistry-Section A
Item No: 79
Question ID: [ 100279
Questi
T;Jpees: on MCQ
Question: %@ﬁﬁ@ﬁ@g oiJow ﬁ@@d&}i@ Rowpews BION wHomTHmodnNd 9
A: [ TS




C: ORI D

D: TROIRERT®
Topic: Chemistry-Section A

Item No: 80

Question 190280

Question
Type: MCQ

2,00 ook X' F Gdpeodmenty NaOH mRend d9e3momnegd, $td NaHCO,
Question: | TR@rlRONR LSRR, Foodng X' S mwreny) iy FeCly meznddnoln ¢
VOFDE, VT[T, "oodws ‘X' &) :

OH

>
Q [ —
m

(s
m




CH,OH

D:

Topic: Chemistry-Section B

Item No: 81

Question

D: 100281

?ues.tion Numeric Answer

ype:
745 ppm ¢ KCl B3, $EFnRT ITTT0 8ee33 (3pe3 A0DHZos 129 m™ 1)
BReEF) 100 Q) AP, (BT, ToBR 1 HoTd MTIRT). ade dpedd 149 ppm ¥ KCl
TRWEOBRY, Bo0WTIN BREFF) 50 () STOJHT. (BT, WD 2 QOT MOTDERT). TWE -

Question: | 1 33y mo@ee 2 T Fweewnt® ITIZ0H ©FTBR) L = ¥x107° R,
18 BPOFP ¢ (BRTT TP 08)
(T8 : KCl & dpecnt” Todody 745 gmol 1)

Topic: Chemistry-Section B

Item No: 82

Question

D- 100282

Que§tion Numeric Answer

Type:
AT LT ©RG B BT g ©oindnd ©olnas SR 3miwen 102 @302 181 pm
SNF. 81 YOIRIONYR, YOIPAT FIoN ﬁweidwﬁ@%@ REBSONT. 85 TLITT TOR 3

Question: e

| pRsegsng B we expuiad (30F) COBYY At B0mMNTBI. AB Z8D L.0m
PuT 3030 @O WG (BOTRT) B pm SAT. (BNeTT TSRE5oF 0F)

Topic: Chemistry-Section B

Item No: 83

Question 100283

ID:




Question

Numeric Answer

Type:
2a, WHHY, FF SORITOD (§e2) TQ woth adRTS JnoYs Y 910w
kms™! N3, (VY a,= BROUS &, 529 pm SNT)
Question:
(T : ST Teodn =91x1073 kg
TROFS AoHT0F h=6.63 x 10734 Js)
Topic: Chemistry-Section B
Item No: 84
Question
D- 100284
?ues.tion Numeric Answer
ype:
20T mﬂm‘i&‘@ 600 mL ESES% 0.2 M HNO4 O:’DES:)A 400 mL Fo’ai% 0.1 M NaOH @oweatinodn
Question: | BTN, FRAFIT ToTTW HOFOI ST,
(3&5%@565@5 e::uoqmaodao =57 k] mol ~1 &5}3_00 20T ei)éa'i FoDY =42 JK1 g_l)
Topic: Chemistry-Section B
Item No: 85
Question
D- 100285
?ues.tion Numeric Answer
ype:
303K 89 O, LRoTI, VOSAYA vBoens, 1 ed” 203 LABRART O, YALT
RIBReS Y FoB,o30 . (BNETT Temorod)
Question:
(Cﬁt_g‘p : 303K 39 B, VoD AONTHOF O, mon 46.82 k bar &b@‘% 0, a8 ©o0d% &'\?’pﬁ@
0.920 bar)
Topic: Chemistry-Section B
Item No: 86
Question
D- 100286
Question ,
Type: Numeric Answer
PbST Q9edzo rbzae)z.‘l@@ 8x10-2 «xd, 298K IY eﬁot% QedRY PbSE QdegBoi
Question: | **x107"°mol L™1 x & aPogy) . (Rweww TererRoss)

[33 : V2 = 1.41]




Topic:

Chemistry-Section B

Iltem No: 87
Question
D: 100287
Que§tion Numeric Answer
Type:
X m:eg Y S@S goS:)od:D X A BozoHoswen gqiab topota m"’o% YR momedHosmen fwﬁq
(BeBR) TEFodznd.
X1 [Y] mEops a8
Fodeen — 7 — =7 T
mol L mol L molL ~ min
Question: I 0.1 0.1 2x103
11 1 0.2 4%x103
111 0.4 0.4 mx10~3
1Y 0.1 0.2 2%x10-3
mNIB) I 1Y BOIRIPONY ORTIH) - (ReTT FpeorRoad)
Topic: Chemistry-Section B
Item No: 88
%{eS“O” 100288
Question .
Type: Numeric Answer
Sedeod e3mHP @R (DT, NFHL SINEDY, wERROATV[ID) TR (BRBHee
Question:
SRR Bo3,000) — (VP @ worne Kos3o3n) (ReoeTT Fpeor FO3,)
Topic: Chemistry-Section B
Item No: 89
I%‘feS“O” 100289
Question .
Type: Numeric Answer
BRT;F oT), HRICFTNRITOTON, FRI,IN 1.0 g TxN), Do Fedd
L1, 2 2-@8wmlpidnednedes TFONCDINT. (Tev® 27% 0¥ T moNT)
Question: | 1,1, 2, 2-8&mlnednednedes 3ododon IWT Be2SH) x10~1 g. (ZpHFOF
:ﬁaoﬁ)

(T : BreweT® Td : Breda’ =80 g/mol)




Topic: Chemistry-Section B

Item No: 90
Question | 100290
_?;pees:tion Numeric Answer
[Fe(CN) P~ woms e 33T MOFeroF NI, (BAReROITBE FFORT, YOIATT), &3
Question: | FOBCLIFTYN Te3d geg 3030 330D BPOZ I (9edecd) A,

(RNETT VHTIFOFY, TRODA)




